
83-K 2 CCE  RF  

  RF (A) - 1023  

 

 10 × 1 = 10 

1.  

(A)  

(B)  

(C)  

(D)  

2. ( Propanol ) ( Propanal )

 

(A) — OH    — CHO 

(B) — OH    — COOH 

(C) — CHO    — COOH 

(D) — CHO    — CO 

3.  

 

(A) Q    S    R    P  

(B) P    Q    R    S 

(C) S    R    Q    P  

(D) P    R    S    Q 



CCE  RF  3 83-K 

  RF (A) - 1023  [ Turn over 

4. 27  

 

(A) 6  (B) 3  

(C) 9  (D) 27   

5.  

 (A) BaCl
2

 + H
2

SO
4

    BaSO
4

 + 2HCl 

 (B) MnO
2

 + 4 HCl    MnCl
2

 + 2H
2

O + Cl
2

 

 (C) 2 NaOH + H
2

SO
4

    Na
2

SO
4

 + 2H
2

O  

 (D) AgNO
3

 + HCl    AgCl + HNO
3

 

6.  

(A)  

(B)  

(C)  

(D)  

7. 

F =   C =   P = 

(A) C F  (B) C  

(C) P F  (D) F  



83-K 4 CCE  RF  

  RF (A) - 1023  

8. X  2, 8, 8, 1 Y  2, 8, 7 

 

(A)   

(B)  

(C)   

(D)  

9.  

(A)  

(B)  

(C)  

(D) 

10. 

1
F

 

(A) 0 (B) 1 

(C) 3 (D) 9 



CCE  RF  5 83-K 

  RF (A) - 1023  [ Turn over 

11. A- B-

 4 × 1 = 4 

A  B  

(A) 

 

(i)  

(B) 

 

(ii)  

(C)  (iii)  

(D)  (iv)  

 (v)  

 (vi)  

 (vii)  

 7 × 1 = 7 

12.  

13.  

14.  

15. 

16. 

 

 

17.  

18.  



  RR  

  RR (B) - 5023  

 

 10 × 1 = 10 

1.  

(A)  

(B)  

(C)  

(D)  

2.  

(A)  (B)  

(C)  (D)  

3.  

(A)  

(B)  

(C)  

(D)  

4.  

(A)  (B)  

(C)  (D)  



CCE  RR  3 83-K 

  RR (B) - 5023  [ Turn over 

5. 
2

F

24

 

 (A) 18  6   

 (B) 12  12  

 (C) 6  18 

(D) 16  8  

6.  

(A)  

(B)  

(C)  

(D)  

7. 

 (A) C
n

H
2n2 

 (B) C
n

H
2n2 

 

 (C) C
n

H
n2

 (D) C
n

H
1n2 

 

8.  

(A)   

(B)  

(C)   

(D)  



83-K 4 CCE  RR  

  RR (B) - 5023  

9. X   

  CuSO
4

 +   X         X   SO
4

 + Cu 

(A) Ag (B) Au 

(C) Fe (D) Hg 

10.  

(A)   

(B)  

(C)   

(D)  

11. A- B-

 4 × 1 = 4 

A  B  

(A)  (i)  

(B)  (ii)  

(C)  (iii)  

(D)  (iv)  

 (v)  

 (vi)  

 (vii)  



CCE  RR  5 83-K 

 7 × 1 = 7 

12.  

13. 

 

14. 

 

15. 

16.  

17. 40,000/mm3
 

 

18.  


	1
	2

